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- At bit 5, nodes 1 and 3 send a dominant identifier bit, node 2 sends a recessive bit but
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+ At bit 2 node 1 loses arbitration against node 3.

- Node 3 wins. Nodes 1 and 2 send their message after node 3 has finished.

Figure 3.38 CANbus message prioritisation



Table 3.1 Data bus network comparisons

Attribute MIL-STD-1553B  ARINC 429 ARINC A664-P7  CANbus
Max. message 32 x 16-bit words  18-bit word 1518 bytes 8 bytes
length (data (1 byte = 8 bits)
element)
Max. bitrate 1 Mbps “100kbps 10/100 Mbps 1 Mbps
Topology Linear Linear Star Linear
Single source, Single source, Single source, Single source,
single sync multisync multisync multisync
(unicast) (multicast) (multicast) (multicast)
Communication  Bidirectional Unidirectional Bidirectional Bidirectional
type Half-duplex Full-duplex Half-duplex
Media access Command/response  Direct CSMA/CD CSMA/CD
(protocol) plus extensions
Max. bus length 100 m (6 m stub) 65 m <100 m 40m
Latency Immediate Small Depends on Depends on
network load message priority
Jitter Small Small Depends on Depends on
network load message priority
Error Parity bit Parity bit Cyclic redundancy  Extensive cyclic
containment check redundancy
check
Error handling Extensive retry Ignored by Shut-off erroneous  Immediate retry
capability receivers nodes
Redundancy Dual redundant Simplex Dual redundant Simplex
Physical layer Shielded twisted Shielded twisted Shielded twisted Shielded twisted
pair pair (quadrax/2 x pair or optical
twinax) or fibre
optical fibre
Price per chipset ~ $1000 $30-$200 $250-$700 $1-$2




